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String s1 = "Hello";
System.out.println( sl );

. me thod
System.out.println( sl.length() ); g
System.out.println( sl.charAt(0) ); Chae A Et;
System.out.println( sl.charAt(1l) ); P
System.out.println( sl.charAt(2) ); (:)m n s
System.out.println( sl.charAt(3) ); ARG By g
System.out.println( sl.charAt(4) );

O I 2 3 4 o &)
Hle|Q|Q|o Y1)
Z1f ohvy

S2 . chav At (o) ,—.e;} '
) =

SZ,C%&VAC()

=

o< , Ohay A \

S2 CMaVAC(q

) W A g




String
System.

System.

sl

out.

out

= "Hello";
println(

.println(

sl

sl

);

.length() );

System.
System.
System.
System.
System.

out
out
out

out.
out.

.println(
.println(
.println(
println(
println(

sl
sl
sl

sl.
sl.

.charAt(0) );
.charAt(1l) );
.charAt(2) );

charAt(3) )
charAt(4) )

((

int k;

for (k=0; k
System.

1

out.prin R F
System.out.println( sl.charAt(k)

;o ++k) {

);
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String s2 = "banana";
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while (| k/< s2.length()_) {

k"5 @), 2.3, v £,
System.out.print(k + "----> "); [ D

System.out.println( s2.charAt(k) );

}
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_k=0;
_ while]( k < s2.length() ) {

) ""”’) ), L,’,_V-\s—
System.out.print(k + "----> ");

System.out.println( s2.charAt(k) );

K++
} ~ Rl 1, y.¢ 0.l

String s2 = "banana";

k=0;

while |( k < s2.length() ) {

K++:

System.aut.print((ji)} + M- ")
System.out.println( 52.charﬂtfﬁ:}} );
}
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int a
int b

10;
2;

a=10; b=2;
System.out.
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a=10; b=2;
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a=10; b=2;
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a=10; b=2;
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println("a= "
println("a+=b
println("a= "
println();

println("a= "
println("a-=b
println("a= "
println();

println("a= "
println("a*=b
println("a= "
println();

println("a= "
println("a/=b
println("a= "
println();
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b= n +
(a+=b)
h= n +

— n +
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